


| Solve the addition problems.

Color the pic’rure using the code at the bottom.

- ©Classroom RessurcaQueen020. -

94 = PURPLE 74 = WHITE 53 = PINK
67 = YELLOW 82 = GREEN 93 = GRAY
72 = BLUE 64 = LIGHT BLUE
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orderindg Numbers

‘Name:

Order the numbers shown on the objects.
:'\K'd » j
1,180

greatest

greatest

greafest

greafest

greatest
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coynting coins [ENCIES

©ClassroomResourceQueen20 19

Color the coins you could use to buy each item.




1Y, § Solve the addition problems.
2l¥ Y Color the picture using the code at the bottom.

06 = BLUE o0 = LIGHT BLUE
o8 = GREEN o/ = YELLOW
65 = RED 67 = ORANGE 48 = TAN
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ESSENTIAL QUESTION
What does muliiplication
" mean?

There are many ways to find the total when there are
groups of equal objects.

Example 1

Gilberto made 4 small pizzas for his party.
Each pizza had 5 slices of tomato. How
many slices of tomato did Gilberto use to
make 4 small pizzas?

Find how many slices of tomato
there are in 4 groups of 5.

One Way Draw a picture.

There are ........... groups. Draw 4 pizzas.

? There are ...
-

Draw 5 slices of tomato on each pizza.

... in each group.

(::% Count. There are ... slices of tomato.

Another Way Use repeated addition.

Write an addition sentence to show the
equal groups. ‘

So, ..

e QPOUPS OF IS e e

Copyright © McGraw-Hill Education ©}Gl/jamie Grifl/Blend images/Corbis

Gilberto used .......... slices of tomato.

—— ' e . lacenn? 199



When you find the total ofequal groups of objects, you multiply.
The symbol (X) means to multiply. The numbers multiplied are fa(;_ ors.

The result is the product.

I
{ Tools

Example 2

A honeycomb cell has 6 sidg’;}s; How many -
sides do 5 separated honeycomb cells have?

Flnd groups of 6.

‘One Way Wri’tef"an addition sentence,

Usve ﬂ\}e‘6—;5id‘ed,pattern blocks. Count the number of sides in all.

Aﬁ@ihef W’ay Wmea muitlphcatnon sentence, - o e

: ‘riil'm'ber'of T number , ]
cells (groups) = of sides total
FISE X , = 5 *———-—{Flnd the unknown, or
factor - factor ' product missing value.
S0, e groups of 6 is . . The unknown is ... sides.

Ja.

1. Write an addition sentence and a
multiplication sentence.

Canyouwrite2 +3+4=9
as a multiplication sentence?

P00 Flhamsar 8 | lnd ot d ATt st

W
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3.

Draw a picture to find the total. Write a multiplication sentence.

6. 6 groups of b : 7. 8 groups of 4

Algebra Multiply to find the unknown product.

8.3x5=1" 9 5x2=¢ 10. 3x3 =1

The unknown is ... The unknown is .. The unknown is ...

I acean ? Multinlicatinn ac Reneated Addltlon

201



Algebra Write a multiplication sentence wrth a symbol for the
unknown. Then solve,

1. Adriano bought 3 boxes of paints. Each box has 8 colors.
What is the total number of colors?

3x8=8
3 X 8= MWW, colors

12. Three boys each have 5 balloons. How many balloons do
they have all together?

X =

X = e DANIOONS

4 Processes ,
¢ 13. aPractices Model Math Write a real -world problem for the

model. erte a multlphcatlon sentence to ﬂnd the total

V-

e iseas

Pr(wesses ' ) .
4. gPractices Use Number Sense What is 9 more than 5 groups

of 37 How many groups of 4 can you make with that number?

" Bui (ng n the Eseenfuai Question Ho/w are mul‘np} cation and
repeared addlt\on alike? Give an example, \

202 Chantar 4 | Indarctand Midtinlicatinn

Copyright © McGraw-Hill Education



Lesson 2

Multiplication as
\ Repeated Addition -

Dani will put 2 forks at each of the
8 table settings. How many forks
does she need in all?

Find 8 groups of 2.

Write an addition sentence to
show the equal groups.

24+2+2+24+2+2+2+2=16

Write a multiplication
sentence to show 8 groups of 2.

B8x 2=
8X2=16

ﬁm«-{ Find the unknown. )

So, 8 groups of 2 is 16. The unknown is 16 forks.

Write an addition sentence and a multiplication sentence for each.

1. 2.

Copyright © McGraw-Hill Education
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" Problem Solving

Draw a picture to find the total. Wrste a muﬁtlpﬂmatmn sentence.

3. 7 groups of 1 green grape - S 4.9 groups of 2 square crackers

Processes o

5. sPractices Model Math How many buttons does
Leonora have all-together if she has 4 bags of buttons and
each bag has 10 buttons?

' X =

Multzpiy to fmd the unknown product.

6.8)(3——?;{* : , 0 T4 X 3=

The unknown is oo . ' The unknown i$ ...

Vocabulary Check ([
Use the correct word(s) and the number .’sen'teme 6 X 8 =48 to solve.

equal groups repeated addition multiply factors product

8. The number 48 is the

9. The symbol X tells you to . |

10. The numbers 6 and 8 are the

. M. 8+8+8+8+8+8 =48 shows

12. 6 ><‘87-mveans 6‘ . ' .. of 8,

3 , 4 : .
13. Test Practice Sam and Bo are washing windows. Each boy washes 5
windows in each of 7 rooms. How many windows do they wash?

® 2 windows © 35 windows
® 12windows ® 70 windows

PNA Bl s mosmstbonD M anlnamd Daben Demcbiom b 5T mmm o asB T o o ommene b2 e

Copyright © McGraw-Hill Education



ESSENTIAL QUESTION

What does division mean?

[

One way to divide is to find the number in each
group. This can be done by equal sharing.

Example 1
Molan feeds 6 carrots equally to 3 rabbits.
Mow many carrots does each rabbit get?

g%@’"[ﬁ)raw one carrot at a time next to each rabbit until
there are no more carrots.

. X

Write a division sentence 1o represent the problem,.
A division sentence is a number sentence that uses the
operation of division. ’

6!
,.w"")‘t-}.‘

. rabbits gives ...

B 7T 3 e THEIE 8@ e CATTOLS fOF @aCh rabbit,

You can think of division sentences in two ways.

6 items - 6 items
3 equal groups e 3 < 3R QD el D aqjUal groups
2 items in each group : 3 items in each group

Mnlina M nantont at 1 rnanardBD mearauahill fam 1 asennd 261



You can draw an array to help you divide.

Example 2

Fifteen scouts equally shared 3 tents, How many scouts are in each
tent? Place one counter (scout) at a time next to each tent until all the
counters are gone. Draw a sketch of your counters.

3 J—"
) -

. There will be e sCOULS i €ach tent,

.

7 " .
}f Use counters to find how many are in each group.

1. 10 counters
2 equal groups

e 11 €ACH group

10 +2=.

3. 20 counters
-5 equal groups

oo 11 €ACH group

“IE D L R T R N N LA

2. 14 counters
7 equal groups

e I €ACH grOUP

M+7%

BESTN

B

: Whenfyou‘divi:d_é; you share ¥
“an equal number to all of the
groups.. S

Explain what it means to

share equally when dividing.

Copyright € McCravw-Hill Education
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Name

Use counters to find how many are in each group.

4. 12 counters 5. 16 counters
2 equal groups 4 equal groups
e N @ACH grOUD e 1T €ACH group

Use counters to find the number of equal groups.

7. 8 counters 8. 21 counters
e @QUAL groups e @QUEAT grOUPS
4 in each group 7 in each group
8+ =4 21 e =7

Use counters to draw an array. Write a division sentence.
10. Draw 9 counters in 3 equal rows.

There are ... in each row.

11. Draw 14 counters in 2 equal rows,

There are ... in each row.

Algebra Draw lines to match each division sentence with
its correct unknown.

12. 24+ =3 o 5
13.30+6=" > 7
14, 42 + 1 =6 | » 8

l meenn 2 Divicinn ac Fanal Sharing

6. 18 counters
6 equal groups

s 111 €BCH group

9. 18 counters
. @CUAL GrOUPS
9 in each group

18+ e =9

PRR



Pmbﬂ&m §@Evm§

me a picture to solve. Then write a
division sentence.

15.

16.

17.

18.

TEA

Marla has $25. How many hamster wheels

can she buy?

A seamstress needs 18 feet of fabric. How
many yards of fabric does'she need?
(Hint: ’iyard = Jfeet)

P?BGESS% _
aPractices Plan Your Solution

There are 6 juice boxes in a package.
How many packages need to be bought
if 24 juice boxes are needed for a picnic?
Write a division sentence with a symbol
for the unknown. Then solve. '

Vg

PI0G85S6S
&Practices

Model Math Write a real-world

problem that uses the division sentence 12 +~ 6 =

Then find the unknown.

Fhmsndimnm . | InAdaretanAd Nhdeiaa

Copyright © McGraw-Hill Education



Naime

Lesson 2

Division as Equal
_ Sharing

There are 16 people on a ride at the fair.
They are divided evenly among 4 carts.
How many people are in each cart?

Use counters to solve the problem.

Start with 16 counters to represent
1 the 16 people.

Divide the counters evenly among the
carts,

16 riders divided equally among 4 carts
is 4 riders per cart.

50,16 + 4 =4,

Use counters o find how many are in each group.

1. 21 counters 2. 16 counters
- 7 equal groups 2 equal groups
e 1N @ACH grOUP e 111 €ACH groUp
X =N 6+2=
E 3. 18 counters | 4. 30 counters
,%; 3 equal groups 6 equal groups
3 e 1Y @ACH group oo I @CH group

b omamen "2 NAG L mmnvaimal. 90ES




Use counters to find the number of equal groups.

5, 24 counters -6, 24 counters

s, €CJUAL GFOUPS ‘ .. €CUAl groups
3 in each group o 6 in each group -

24+ =3 | W Ao

Draw a picture to solve, Then write a division sentence.

7. Amy and 3 friends want to share 8 apples equally.
How many apples will each person get?

' Processes
8. aPractices

She eats 2-and throws away 2 that she dropped.
Sarah puts the rest of the crackers into 4 equal
groups. How many crackers are in each group?

Vocabula

Draw an example or write a definition beneath each vocabulary word.

9. array 10. divide 1. division sentence

12. Test Practice There are 12 girls and 13 boys in Mr. Copa’s class. He
divides the students into equal groups of 5. How many students are
in each group?

® 5 students © 15 students

® 10 students "~ (® 20 students

FYETE B e el o oo s o dB B DYoo ] I Dbl b ol mammaetBR meorraumdbill ~aem -
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